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159 (1) (a) What can we divide 120 by to find one-tenth? 10

120+10=12
So, one-tenth of 120 is 12.
(b) What can we divide 18 by to find one-third? 3
18+3=6
So, one-third of 18 is 6.




(c) What can we divide 24 by to find one-half? 2
2 +2=12
So, one-half of 24 is 12.
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146 | (1) (a) 10 ) 6 () 9 (d) 12 (e) 7 (f) 30 (9) 15
(h) 24
(2) (@) 7 (b) 4 (c) 10 (d 1 (e) 5 (f) 20 (9) 3
(h) 6
3) (a) &6 (b) 4 () 5 (d) 7 (e) 1 ) 3 (@) 2
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147 | (4) (a) 5 (b) 4 (c) 3 d) 7 (e) 8 ) 10 (@) 2
(h) 8
(5) (a) 6 (b) 8 (c) 3 (d) 10 (e) 9 (f) 5 (9) 1
(h) 2
(6) (a) 4 (b) 2 (c) 1 (d) 10 (e) 1 (f) 6 (9) 8
(h) 5
148 | (7) (a) 2isjof4. (b) 4isgof 16. (c) Sisofls.
(d) 7isg50f 70. (€) 12isof 2. (f) 8isyof 56,
(9) 10 is 75 of 100. (h) 17is 5 of 34, (i) 7isgof42.
() 8isof64.
(8) (a) 8is3of 16. (b) 3is 35 of 30. (¢) Sisyof20.
(d) 3isgof24. (e) is3of27. (f) 6isyof36.
(g) diszof18. (h) &isof 16. (i) 10is g of 80.
@) 3isgof18.
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